mm

2)

3)

4)

Home Learning Maths - Unit 4 - Week 14 - MONDAY

What shape is this?

Which is heavier, 10 kg or 100 g'?

How long is the car?

o>

2 6 7 B WM N2ZWBWI5IEIIGI

How many degrees does the minute hand on a

clock turn between o’clock and half past

How many hundreds are equal to 60 tens?




SIMMERING SILVER

)

Flashbale k Y

What shape is this?

Write the coordinates of the point shown.

: | .
How many lines of symmetry does an equilateral
triangle have? i
An angle measures 34°. What type of angle is it?
What is 48 divided by 67 o
Rese




SIMMERING GOLD

What shape is this?

Each cube has a length of | cm. -
What is the volume of the shape?

How many cm are the same as 6.25 m?

Complete the number sentence using <, > or =

4,752 ml (@) 4725 |

16

Convert 5 info a mixed number.




Which red line shows the r*c.ldlus? \_(_/
IORIZKD

A car stops at the traffic lights. How would this
be shown on a speed / time line graph?

Work out the missing angle. EU}‘\\ A 70°

6 em

lem |

Find the perimeter.




ANSWERS STMMERING BRONZE

Which is heavier, |0 kg or 100 g? 10 kg

How long is the car?
o o 6 cm
T
+ 6 7 8B 2 0NNV WI VI B I 20

How many degrees does the minute hand on a
clock turn between o’clock and half past?  180°

How many hundreds are equal to 60 tens? 6




ANSWERS SIMMERING SILVER

|ashbal k_ Y

) Write the coordinates of the point shown.

(6,8) S~

g
B
B
5

2

x
o1 2345678970

2)  How many lines of symmetry does an equilateral

triangle have? 3

3)  An angle measures 34°. What type of angle is it?
acute angle

Y)  What is 48 divided by 6? 8




ANSWERS SIMMERING GOLD

‘ a s h ba k u Triangular prism

) Each cube has a length of | cm.
What is the volume of the shape?

~/|
</

20 cm?
2)  How many cm are the same as 6.25 m? 625 cm
3)  Complete the number sentence using <, > or =

4,752 ml (>) 47251

16

Y) Convert s info a mixed number. 3

all —




4)

Which red line shows the rudlus';’

O GRESL

A car stops at the traffic lights. How would this
be shown on a speed / time line graph?

A flat line where speed =0 q0°
Ch o
Work out the missing angle. 2{]\(’\/\ 70

6 em

Icml 7 em

Find the perimeter. 16 cm




Turns and angles

%9

.—--'---

o Which pictures show at least one angle? ¢} Annie is facing east. She turns a three-quarter turn clockwise.

// ‘ / /\ 74 j(_/ What direction is she facing now?
&

° Mo and Eva are answering a question.

Mr Lee is facing west. He turns a half turn.
What direction is he facing now;

-

Compare answers with a partner.

o The arrows are being turned clockwise.
Match the picture to the turn.

f * half turn

ﬁ ﬁ quarter turn
Who do you agree with? Talk about it with o partner. (

@ full turn o Esther and Brett are showing what time it will be in a quarter ﬁ

of an hour.

ﬁ three-quarter turn Here is the time now.

Here are their answers.

I cannot answer
this because we don't
know what direction
he turns in.

It does not
matter about
the direction!

o Here is a compass.

&

Esther

a) Aisha is facing north. She turns a quarter turn clockwise.
What direction is she facing now?

b) Tommuy is facing north. He turns a quarter turn anticlockwise.

What direction is he facing now?
Who is correct? Talk about it with a partner.



Turns and angles

¢} Annie is facing east. She turns a three-quarter turn clockwise.

What direction is she facing now?

o Mo and Eva are answering a question. o

Mr Lee is facing west. He turns a half turn.
What direction is he facing now?

I cannot answer
this because we don't
know what direction
he turns in.

It does not
matter about
the direction!

Who do you agree with? Talk about it with a partner. @

o Esther and Brett are showing what time it will be in a quarter @
of an hour.

Here is the time now.

Here are their answers.

Esther

Who is correct? Talk about it with a partner.

o Draw hands on the clocks to show the new times.

half an hour later

—

quarter of
an hour later

—

three-quarters of
an hour later

—

half an hour later

—

A figure skater is facing the direction shown.

She turns a quarter turn clockwise and then

a three-quarter turn clockwise.

a) Draw on the picture to show that she ends
up facing the same way as she started.

b) What other turns could she make and still
end up facing the same way?

Compare answers with a partner.

White

@:@\@

R ©

O




Identify angles

d) e) f)
o Complete the sentences.

Use the word bank to help you. \Q_

90 ( 180 J (greuterj [ less J

a) A right angle is degrees.

b) Anacuteangleis —_______ than degrees. ° Which ore acute angles?

c) Anobtuseangleis —______ than degrees ,_d \Q/ A

but less than degrees.
o Match the angles to the labels. o Which are obtuse angles?
o Label the angles: acute, obtuse or right angle.
right angle acute angle obtuse angle
a) 9]

o Label the angles: acute, obtuse or right angle. Q \>/ :

a) b) 9

b d)

za NG | 7 A




Identify angles

d) e) f)
o Is the angle acute, obtuse or a right angle?
\Q_ _O/ a) 35° c) 90° e) 121°
b) 99° d) 89° f) 179°
/<>\ How do you know?

0o |

° Which are acute angles? o

A e AT
© Which are obtuse angles?
N S A LY

Do you agree with Teddy?

Angle B is obtuse
because it's bigger than
the right angle.

o Label the angles: acute, obtuse or right angle. Explain your answer.

<)

a)
o Are the statements always true, sometimes true or never true?
Explain your answer.

a) An obtuse angle is a greater turn than an acute angle.

© O

b d)

)
Y b) An acute angle is a greater turn than a right angle turn.
40/ ) If you turn through two acute angles you will have turned

through an obtuse angle.



GOLD

Measuring angles in degrees

o Whitney is facing the school.

Eva is facing her house.

She makes a full turn.

Gg—

b) How many degrees has Eva turned through?

a) What is Eva facing now?

hospital \

w
« \
park Whitney turns half a turn.

What is she now facing?
Does it matter which way she turns? park

Mo is facing his school.

)
I
f§—
|

(@

N —
swimming pool % school o Amir, Annie, Jack and Filip are standing at point A.
bank
Mo makes a half turn. . trees
a) What is Mo facing now?
school H house
b) How many degrees did Mo turn through?
Complete the sentences.
bakery
/. a) Amir is facing the bank.
a) There are degrees in a full turn. k‘/ He turns 90 degrees clockwise.
What is Amir facing now?
b) Amir faces the bank again.
b) There are degrees in half a full turn. This time he turns 90° anticlockwise.
What is he now facing?
9 T g ‘ ¢) Jack is facing the house.
i rt
ere are egrees in quarter o He makes @ 90° turmn.
a full turn. What could he now be facing?




Measuring angles in degrees

o Whitney is facing the school.

cafe
hospital
Whitney turns half a turn.
What is she now facing?
Does it matter which way she turns? park @

o Amir, Annie, Jack and Filip are standing at point A.
bank

school H house

bakery
a) Amir is facing the bank.

He turns 90 degrees clockwise.

What is Amir facing now?

b) Amir faces the bank again.
This time he turns 90° anticlockwise.

What is he now facing?

¢) Jack is facing the house.
He makes a 90° turn.

What could he now be facing?

d) Filip is facing the school.
He turns to face the house.

How many degrees did he turn through?

e) Annie is facing the bakery.
She turns to face the school.

Describe two different turns she could have made. @

Ron is standing in the park.

He is facing forward and looking at a slide.

He makes a 180 degree turn and is now facing a bench.
He now makes a 90 degree turn and is facing a tree.
Draw a possible diagram of the park.

Compare your diogram with a partner’s diagram.

What is the same and what is different about your diagrams?

The diagram shows the direction of some places in relation to the centre

CO

f a town.
of @ town church

supermarket cinema

coffee shop school

[ am in the town centre,
facing the cinema. I make a
q0° turn clockwise.

restaurant

bank

What is Tommy facing now?

Create your own problem like this for a partner.

O



Calculating lengths and angles in shapes

o Here is a square.

a) What is the size of each of the angles?

A diagonal line is drawn across the square.

b) Explain why angle & is also 45°.

o Here is a rectangle.

What is the size of the
angle marked p?

e Tom has some identical paper rectangles.

He makes shapes with the rectangles.

[ [N
ml Im
45*
(¥4
r
53°
6 cm
10 cm

a) Work out the missing length and width of this shape.

FY

w|

b) Work out the perimeter of this shape.

White

Rase
’____,_,,,-—"
|

o Dani has two identical triangles.

70" 70"
50° 60° 50° 60°

The two triangles are put together to moke a quadrilateral.

What are the sizes of angles x and y?

e The rectangle is cut in half across the diagonal. 209

(&

The two triangles are put together to form an

isosceles triangle.

Work out the size of the angles
in the isosceles triangle. /\

How did you work this out? Talk about it with a partner. @,‘




Calculating lengths and angles in shapes

b) Work out the perimeter of this shape. .o,- o A hexagon has these dimensions.
Brett cuts the shape in half and fits the pieces together to make a rectangle.

What is the length and width of the rectangle?

4
R cm
o Dani has two identical triangles.
9 cm
70° 0
4 cm
"‘ =
A 9 cm 4
50° 60° 50° 60"
The twao triangles are put together to make a quadrilateral.
What are the sizes of angles x and ¥?
x
o Shape A is a regular hexagon. o
y 4

Shape A is cut up to make shape B.

Shape A

o The rectangle is cut in half across Shape B

70 mm

») ==

the diagonal.

The two triangles are put together to 80 mm » \ / I
form an isosceles triangle. L

Work out the size of the angles P »

in the isosceles triangle. 110 mm

How did you work this out? Talk about it with a partner. @ What is the length and width of the new rectangle?

k




N

Turns and angles - €) Here is a compass.

a) Aisha is facing north.

o Which pictures show at least one angle? Tick your answers. She turns a quarter turn clockwise.
What direction is she facing now? East
/ / /% b) Tommy is facing north.
He turns a quarter turn anticlockwise.
- What direction is he facing now? West
7% \JL/ ¢) Annie is facing east.
She turns a three-quarter turn clockwise.

i What direction is she facing now? Norkn
Compare answers with a partner.

o Mo and Eva are answering a question.

O

o The arrows are being turned clockwise.

Match the picture to the turn. Mr Lee i )
r Lee is facing west. He tumns a half turn.

What direction is he fucing now?
half turn
I cannot answer
this because we don’t :
quarter turn know what direction K4
he turns in. It does not
matter about
the direction!
full turn
Who do you agree with? Evo
@ three-quarter turn Talk about it with a partner. @

@ wwrhite Deca Besthe 200




o Esther and Brett are showing what time it will be in a quarter

of an hour.

Here is the time now.

Here are their answers.

Esther

Who is correct?

Talk about it with a partner.

o Draw hands on the clocks to show the new times.

half an hour later

o

quarter of
an hour later

®)

KC O

three-quarters of
an hour later

—

half an hour later

o A figure skater is facing i \ @

the direction shown.

She turns a quarter turn . __+

clockwise and then a
three-quarter turn clockwise.

% 7

a) Draw on the picture to — J Zé

show that she ends up facing the same way as she started.

b) What other turns could she make and still end up facing
the same way?

Vanous ounsiers

Compare answers with a partner. @




Identify angles o Label the angles: acute, obtuse or right angle.
a) d)

Use the word bank to help you.

( 90 ] [ 180 ] [9’9‘“9’] acuke olobuse

b) e)

o Complete the sentences.

a) A right angle is Glo degrees.

b) An acute angle is less than qo degrees. 1

c) An obtuse angle is Srtﬂtﬁf than | 5 () | degrees /O\

but | th d .
ess than | | §() |degrees richt _anda _Cldt ande

o Match the angles to the labels. p
right angle Q

O cuke ;b ) S

acute angle

° Tick all the acute angles.




o Tick all the obtuse angles.

A YN

o Label the angles: acute, obtuse or right angle.

b)

c)

N

richt ancle acure
o o

d)

_ A

Clokuse obkuse

o Is the angle acute, obtuse or a right angle?

a) 35° __ oluke d) 89° __ acuke
b) 99°__ cotuse e) 121° __cbbus
c) 90° rij“t’- ﬂ-nf:"l!.. f) 179° __obluse

How do you know?

Angle B is obtuse
because it's bigger than
the right angle.

Do you agree with Teddy? _o

Explain your answer. @

o Are the statements always true, sometimes true or never true? @

Explain your answer.

a) An obtuse angle is a greater turn than an acute angle.

Alwasts. Obbuse o.nd-.m ae qn'.obr.«" Bran 90° tbwqoce. er.mu o
mmtg.ua.naha wihich cJ.rc. WM\ qo0°,

b) An acute angle is a greater turn than a right angle turmn.

Never. Rcuke anglen are lams thon 90° -;L.umunnan‘alwmﬂu_

<) If you turn through two acute angles you will have turned
through an obtuse angle.

Somekinad. E.q. 12°+12° - 9" Coews) oux 50°+50° = 100" (cohue)




GOLD ANSWERS
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Measuring angles in degrees © complete the sentences.

a) There are| 540 |degreesina full turn.

o Eva is facing her house. b) There are| | 0 |degrees in half a full turn.

She makes a full turn.

¢) There are a0 degrees in quarter of

a full turn.

a) What is Eva facing now? House

b) How many degrees has Eva turned through?

o Whitney is facing the school.

&%

160 | degrees

o Mo is facing his school.

hospital

swimming pool school

Whitney turns half a turn.

Mo makes a half turn. What is she now facing? ‘r;nrl.c. q
a) What is Mo facing now? Swimnmang poel Does it matter which way she turns? =

b) How many degrees did Mo turn through? 180 degrees

@ White Rose Maths 2020




o Amir, Annie, Jack and Filip are standing at point A.
bank

house

school H

bakery

a) Amir is facing the bank. He turns 90 degrees clockwise.

l"n"u LS4

Where is Amir facing now?

b) Amir faces the bank again.
This time he turns 90° anticlockwise.

~ |
Srnoo

Where is now facing?

¢} Jack is facing the house.
He makes a 90° turn.
Where could he now be facing?

L1
Dol aor oo eryl
t

d) Filip is facing the school.

He turns to face the house.

How many degrees did he turn through? 120

e) Annie is facing the bakery.
She turns to face the school.

Describe two different turns she could have made.

&)

P

e LIII y fl'E-l

o Ron is standing in the park.

He is facing forward and looking at a slide.

N

He makes a 180 degree turn and is now facing a bench.
He now makes a 90 degree turn and is facing a tree.

Draw a possible diagram of the park.

il //'l H

Jlda

DENnOA

Compare your diagram with a partner’'s diagram.

What is the same and what is different about your diagrams?

C O

o The diagram shows the direction of some places in relation to the
centre of a town.

church
supermaket cinema
@@ coffee shop school
=
. house restaurant
I am in the town centre,
bank

facing the cinema. I make a
902 turn clockwise.

(o5 bEolur o

What is Tommy facing now?

Create your own problem like this for a partner.

O




Calculating lengths and angles in shapes

H [l
a) What is the size of each of the angles?

A diagonal line is drawn across the square.

45°
(41

b) Explain why angle a is also 45°.

90

A righh cmaha s 90° and 90* -LS° =45
o Here is a rectangle.
p
53°
What is the size of the angle marked p?
p= 37

10 cm

He makes shapes with the rectangles.
a) Work out the missing length and width of this shape.

F'Y

FN
-

30 |em

b) Work out the perimeter of this shape.

perimeter=| 57 |em

@ White Rose Maths 2020
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o Dani has two identical triangles.

70° 70°

50° 60", s0°

60",

The two triangles are put together to make a quadrilateral.

What are the sizes of angles x and ¥?

x=|130 |° y={130 |°

o The rectangle is cut in half across the diagonal.

70°

(§

The two triangles are put together to form an isosceles triangle.

Work out the size of the angles in the isosceles triongle and label

them on the diagram.

How did you work this out? Talk about it with a pariner.

»)

e A hexagon has these dimensions.

4 em

e

9cm

w»

4 em

]

™

9 cm

Brett cuts the shape in half and fits the pieces together to make a

rectangle.

What is the length and width of the rectangle?

width=| L |em

length =

cm

o Shape A is a regular hexagon.
Shape A is cut up to make shape B.

Shape A
70 mm

110 mm

) > 7 =

Shape B

120 [mm

What is the length and width of the new rectangle?

Label the diagram.

(&




